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Crossword

Tod The Dinosaur • PR Condron

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

The Rationale of Good Defense
To defend well is difficult, but certainly not im-

possible. It’s mostly a matter of gathering clues
available from the bidding or play, and taking ad-
vantage of the knowledge you gain.

Assume you’re East and win partner’s queen-of-
hearts lead with the ace. What should you return?
Considering all factors, your best return is a low
diamond! If you make this play, the contract goes
down one.

Declarer wins in his hand and leads a trump. Fol-
lowing your line of defense, partner rises with the
ace and returns a diamond. You win with the ace and
play a diamond, and partner ruffs to score the set-
ting trick.

How can you be expected to find this extraordi-
nary defense without seeing all four hands? Actu-
ally, it makes a lot of sense — if you stop to reason
things out.

To begin with, you should conclude that you don’t
have a ghost of a chance to defeat the contract un-
less partner has the ace or king of trumps. You there-
fore assume that he has a trump trick coming. You
also know from the queen-of-hearts lead that part-
ner does not have the king, so that a heart return is
futile.

Finally, you know from South’s three-diamond
bid that he has either three or four diamonds. If South
raised with four diamonds, your best defense is to
play the ace and another diamond. But if South
raised with three diamonds, your best defense is a
low diamond at trick two.

In trying to solve this problem, you make the rea-
sonable assumption that if South had held four dia-
monds, your partner, who is presumed to hold the
trump ace or king, would have led his singleton dia-
mond. Therefore, you say to yourself, partner must
have two diamonds, so the best chance to beat the
contract lies in a low diamond return.

Tomorrow: Two double-dummy problems.

Two Double-Dummy Problems
These are double-dummy problems, which

means you’re allowed to look at all four hands while
trying to find the solution.

1. You are declarer with the South hand at Six
Clubs, and West leads the king of spades. How
would you play the above hand?

1. About as good a way as any — even if you don’t
see the East-West hands — is to ruff the spade lead
and play four rounds of trumps, discarding the ace
of hearts from dummy! Then cash the K-Q of hearts,
discarding the A-K of diamonds from dummy! Your
housecleaning done, concede the jack of diamonds
to the queen, and the rest of the tricks are yours.

   * * *
2. You are on lead with the South hand. Diamonds

are trumps, and you must win all six tricks. (This is
not an easy problem to solve.)

2. Cash the ace of clubs, playing the jack from
dummy as a preparatory move for a possible finesse
later on. Ruff the queen of hearts in dummy and lead
the jack of diamonds.

East can do no better than discard the queen of
spades as you also discard a spade. West, who can-
not spare a spade or a club, is forced to discard the
ace of hearts.

When you next cash the ace of spades, East is
squeezed and must either allow you to score the jack
of hearts or the nine of clubs.
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